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Calcule

a) f(a +3z)"dx, con n# —1 Yy a una constante real

(30 puntos)
Solucién:
SeaJ =a+ 3z
J=a+3c=dJ =3dr=dv=5dJ
n n+1
f(a+3x” fJ”dJ—%iL:ll c:%%-&c,conn#—l

n+1
Finalmente, f(a +3x)" dr = % (atii”} ~ 4 c,eonn# —1 []
b [ +1)ar
(30 puntos)
Solucién:

fln(t2 +1)dt = fl SIn(t? + 1) dt
= I +1) = p = gy (4 1) =

t2+1
g =1=q=t
flnt2+1)dt—tlnt2 2ft2+1
Calculemos el cuociente t2 )
t P 1=1
()42 4 )1
—1
Lo anterior significa que 5t =1 - 7Ly
t?
Luego ftQH dt = f dt — ft2+1 dt =t — Arctg(t)

Finalmente,

fln(t2 F1)dt = tin(t2 + 1) — 2¢ + 2 Arctg(t) + ¢ []



